MBEx40 - ks
M10x30 - &ks @ M58 - 1ks P8 - 1ks
MI10x35 - 2ks FP10 - 12ks
M12x70 - 2ks (A) - P10 - &ks PP12 - 2ks (A, 1) @ PR14 - ks
M12x90 - 2ks (1) . MI10 - Bks PP12 - 4ks [C)
M12x19 - 4ks (C) MI12 - 2ks (A, 1)
DETAIL

\

MI12x19 - dks

M12x90 - 2ks

M10x35 MT0x30

M10x30

M1 2% 70 - Pks

CHEVROLET CRUZE
Kéd: CO865(A1C) - 2. 5. 2013




